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B. Tech. EXAMINATION, Dec. 2013
[Ilird Semester Old Scheme (Re-appear only)]

FEEEE
ELECTRICAL MACHINES-T
EE-207
Time - 3 lHours Maimum Marks : 100

Before answering the Question Paper candidates should
ensurc that Uiey have been supplied the correct and
complete Question Paper. No complains in this regard,
will be entertained after the cxamination

Note: Attempt five questions with at least two from

each part.
PartA

1. () A single phase transformer has a voltage ratio
on open circuit of 3300/660 V. The primary
and secondary resistances arc 0.8 and 0030
respectively, the  comesponding  leakage
reactance being 40 and 0.120. The load is

rTo.
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equivalent to a coil of resistance of 4.8Q and
inductive reactance 360 Determine the
terminal voltage of transformer and the output
nKW. 10

Explain working of loaded transformer. Draw
the phasor diagram for different nature of
loads. 10

‘What is transformer? Fxplain Working Principle of

Transformer.  Give  constructional  details  of

transformer. 20

@)

®)

‘What arc the advantages of & transformer bank
of three single phasc trausformer over a unit
three-phase transformer of same KVA rating?

10

A 100 KVA, single phase transformer has an
iron loss of 600 W and a copper loss of 1.5 kW
at full load current. Caleulate the efficiency at
(2) 100 KVA output at 0.8 lagging p.f (b) 50
KVA output at unity p.. 10
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What is an auto transformer? Explsin working
of auto ransformer. Derive the expression for
saving of Cu in comparison of fwo winding
transformer. 10
Why transformers are connected i parallcl?
What are the conditions of parallel operation
of three phse transformer? Explain 10

Part-B
Describe commutation. Lixplain the process of
commutation in DC generators with neal
sketch. Describe the method of improving
commutation. 10
A four pole machine running at 1500 rpm hiss
an armature with 90 slots and 6 conductors per
slot. The flux per pole is 10mWh. Determine
the terminal e [ as DC generator if the coils
are lap connected. If the current per conductor
i5 100 A, determine the clectrical power. 10
Define and explain Pole pitch, coil span, back
pitch, front pitch, resultant pitch, commutator
pitch. 10

3 [PTO.
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‘Why starter is required in a de motor? lixplain
working of 4-point starter with neat disgram.
10

Explain ward leonard method of speed control

of DC motor. 10
FExplain working of DC motor and derive its
torque equation 10

Discuss different types of braking in DC serics
motor. 10

A DC shunt motor with inter poles has the
following particulars. Output power: 8952
KW, 440 V. armature resistance 1.1 Q. brush
contact drop 2V. interpole winding resistance
0402, shunt resistance 650 €2, resistance in the
shunt regulator 50 €2 lron and friction losses
on full load 450 W. Calculate the efficiency
when taking the full rated current 0f 24 A. 10

4 550




